Review Sheet for the Second Midterm of Economics 101 (Prof. Kelly)

The following is a list of topics that you should cover for the second midterm. This list should serve as a checklist for you to see whether you have studied everything you need to. You should expect questions on each of these topics on the exam. In order to do well on the exam you should review your lecture and section notes, and the appropriate chapters from the book. In addition, it is very important to work on the practice problems. Good luck!  

I. International Trade (Chapter 9): The following topics are important.

· Equilibrium without trade.

· The concept of World Price.
· The gains and losses from trade for an exporting country and for an importing country. This gain or loss takes the form of an increase in the total surplus of an important. You should be able to recognise this increase in the diagram and also calculate its magnitude.

· The effects of tariffs and import quotas. A tariff reduces consumer welfare and increases producer surplus and government revenue. A quota reduces consumer welfare and increases producer surplus and the surplus of the license-holder. I both cases, the reduction in consumer surplus is greater than the combined increase in the other two components. So a tariff or a quota reduces total welfare. This reduction is called the deadweight loss. Recognising and calculating this deadweight loss is important.

· The arguments for restricting trade and how those arguments may be countered by using economic logic.

II. Consumer Theory (Chapter 21): The following concepts are important in Consumer Theory.

· Indifference Curve (Note that points on an indifference curve denote consumption bundles that give the same utility level to a consumer. A higher indifference curve denotes higher utility.)

· Properties of indifference curves: They are downward sloping, never cross, and are bowed inward. 
· Budget Line (Slope of a budget line= -
[image: image1.wmf]y

x

P

P

. The y-intercept of a budget line= 
[image: image2.wmf]y

P

I

. The x-intercept is = 
[image: image3.wmf]x

P

I

)

· Movement and shift of the Budget Line. A change in income without any change in prices will change the intercepts but not the slope. So the budget line will shift out (if Income rises) or in (if income falls) in a parallel manner. If only Px changes, the x-intercept increases without any change in the y-intercept. Analogous movements occur if the price of y changes. 

· Optimal consumption is given by the point of tangency of the budget line with the highest possible indifference curve.

· Income Effect and Substitution Effect. There is an easy way to distinguish between the two effects. The movement that takes place on the original indifference curve is the SE. This movement will be from the point of tangency of the original indifference curve and the original budget line (i.e. the original equilibrium) to the point of tangency of the original indifference curve and the imaginary budget line. Then, the movement from this tangency of the original indifference curve and the imaginary budget line to the new equilibrium (the point of tangency of an indifference curve and the new budget line) is the IE.  (Refer to lecture notes for this section most carefully).

· Price-consumption curve and Income-consumption curve.

· Derivation of the demand curve.

III. Externalities (Chapter 10): Note the following concepts.

· Definition of externalities.

· Positive externalities (external benefits) and Negative Externalities (external costs). There are external benefits and costs on the production side as well as the consumption side. Hence positive (or negative) production externalities, positive (or negative) consumption externalities
· MPB- Marginal Private Benefit; MPC- Marginal Private Cost

· MSB- Marginal Social Benefit; MSC- Marginal Social Cost.

· The point of intersection of MPB and MSC is the market equilibrium. The point of intersection of MSB and MSC is the social optimum.

· If there are no externalities, then MPC=MSC and MPB=MSB

· Production Externalities create a difference between MPC and MSC. With positive (negative) production externalities, MSC lies below (above) MPC. As a result, the market output is less (more) than the socially optimal output.

· Consumption Externalities create a difference between MPB and MSB. With positive (negative) consumption externalities, MSB lies above (below) MPC. As a result, the market output is less (more) than the socially optimal output.

· The presence of externalities creates a deadweight loss (DWL). DWL is caused by the difference between the market output and the socially optimal output. If there is no difference, then there is no DWL. A very easy to calculate the DWL is to use the following formula;

DWL=
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, where Qs is the socially optimal output (MSC=MSB) and Qm is the market equilibrium output (MPC=MPB). Externality is the externality per unit. Note that you have to take the absolute value because deadweight loss can never be negative.

· Total market surplus (TMS). With positive externality, TMS=CS+PS+ total external benefit. With negative externality, TMS=CS+PS- total external cost. Note that total external benefit (cost) = equilibrium market quantity* external benefit (cost) per unit. 
· Government intervention. The govt. should impose a tax if there is an external cost and grant a subsidy if there is an external benefit. The tax or the subsidy should be directed to the side that is creating the externality. Thus, positive (negative) production externality implies a subsidy (tax) on producers. Positive (negative) consumption externality implies a subsidy (tax) on consumers. 
· The aim of government intervention is to reach the social optimum and remove the difference between the market output and the socially output. 
· The total surplus after govt. intervention is 
TSsocial = PSsocial + CSsocial + Tax Revenue – Total external cost. (if we      have external cost)

TSsocial = PSsocial + CSsocial – Subsidy cost + Total external benefit (if we have external benefit)

Note that the last two components of each of the above two equations are always equal and so cancel each other out. So, you can ignore them while calculating total surplus and simply add consumer and producer surplus.

An even easier way to find out TSsocial is to take the total market surplus (TMS) and add deadweight loss. Thus TSsocial= TMS + DWL. This is because the whole purpose of government intervention is to remove the difference between the market output and the socially output and thereby eliminate the deadweight loss.

· Apart from taxes and subsidies, the government can also use regulation to resolve the externality problem.

· There are private solutions to the externality problem as well. Refer to Mankiw’s discussion of the issue. The most important such solution is to assign property rights to one of the individuals concerned. It does not matter whether the rights are granted to the individual creating the externality or the individual affected by the externality. The Coase Theorem says that either way, the individuals concerned will be able to arrive at the efficient solution through mutual bargaining. Note that one critical assumption of the Coase theorem is the absence of any transaction costs. The presence of such costs can lead to breakdown of bargaining. Bargaining may also break down if the number of individuals concerned is very large. Then the efficient level of output may not be reached through bargaining.
IV Public Goods and Common Resources (Chapter 11): The following concepts are important.

· Concepts of rivalry and excludability.

· Distinction between private goods, natural monopolies, common resources, and public goods on the basis of whether they are rival and/or excludable.
· Public goods are neither rival nor excludable. Common resources are rival but not excludable.
· Examples of public goods are national defence, basic research etc.
· The aggregate demand curve for a public good is obtained by the vertical summation (not horizontal as is the case with private goods) of the individual demand curves. At each quantity level, we see the willingness to pay of each individual and then estimate society’s total willingness to pay by adding the willingness to pay of the various individuals.
· Of course, the above point is the ideal situation in which we assume that we know the preference or the willingness to pay of each individual. But this is very difficult to know because people will usually tend to lie and understate their willingness to pay in the hope that somebody else will pay for the public good and they will be able to enjoy it for free (because it is non-rival and non-excludable). This problem is the free rider problem.

· Examples of common resources are clean water and air, congested roads, wildlife etc.
· Tragedy of the Commons. The tragedy occurs because when people use the common resource, they reduce its availability for other users. Since the users are not paying for this reduction, they are creating a negative externality. This negative externality causes too much use of the commons relative to the socially optimal amount of use. One possible solution to the tragedy is to assign property rights over the commons to one of the users.
VThe Tax System (Chapter 12): 

· Taxes and efficiency. Taxes cause efficiency loss by imposing a deadweight loss and the administrative burden of filing tax returns.
· Marginal and average tax rates. Apart from definitions of these concepts, you must also be able to calculate these tax rates. Also, you should be able to calculate tax liability. Refer to class notes.
· Lump sum taxes. Lump taxes cause no deadweight loss and are therefore efficient. But they are not equitable.
· Taxes and equity. The question of tax burden should be distributed. 
· The Benefits Principle and the Ability-to-pay Principle. 

· The Ability-to-pay Principle has two corollaries: Horizontal equity and Vertical equity.
· Vertical Equity gives rise to proportional, regressive, or progressive tax structure. 
VI Costs of Production (Chapter 13): 

· The concepts of Short-run and Long-run.
· Total Revenue (TR), Total Cost (TC), and Profit. Profit =TR-TC.
· Opportunity Cost which can be divided into implicit costs and explicit costs.

· The differences between an economist’s view and an accountant’s view of costs and profit.

· Production Function

· Marginal product (MP) of an input. Marginal product of labour is a very widely used concept.
· The concept Diminishing Marginal Returns which says that, holding others inputs fixed, as the quantity of an input is increased, its marginal product rises first, reaches a peak, and then gradually starts declining. In fact, the phase of the initial increase in MP may not even increase. Marginal product may start declining right from the first unit of the input itself.
· Various measures of Cost. Total cost (TC), Fixed cost (FC), Variable cost (VC), Average fixed cost (AFC), Average variable cost (AVC), Average total cost or simply average cost (ATC), and most importantly, Marginal Cost (MC). 
· ATC =
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. So marginal cost is the increase in total cost that arises from producing an additional unit of output.
· Shapes of the various cost curves. Most importantly, note the shapes of the ATC and MC curves. They are typically U-shaped.
· The relationship between the ATC and MC. Whenever MC is less than ATC, ATC is falling. Whenever MC is greater than ATC, ATC is rising. When ATC reaches its minimum point, MC=ATC. 
· Relationship between Short-run and Long-run Average Total Cost.

· Economies and Diseconomies of Scale.

Economies of scale
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Long-run ATC falls as output increases.


Diseconomies of scale 
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 Long-run ATC rises as output increases.


Constant returns to scale 
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 Long-run ATC stays the same as output changes.
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